## A NOTE ON QUASI-ARMENDARIZ RINGS

LIU ZHONGKUI AND ZHANG WENHUI

ABSTRACT. A ring R is called a quasi-Armendariz ring if whenever elements  $\alpha = a_0 + a_1 x + a_2 x^2 + \cdots + a_n x^n$ ,  $\beta = b_0 + b_1 x + b_2 x^2 + \cdots + b_m x^m \in R[x]$  satisfy  $\alpha R[x]\beta = 0$ , then  $a_i R b_j = 0$  for each i, j. In this note we consider quasi-Armendariz property of a special subring of the infinite upper triangular matrix ring over a ring R.

All rings considered here are associative with identity. A ring R is called an Armendariz ring if whenever polynomials  $f(x) = a_0 + a_1 x + \cdots + a_m x^m$ ,  $g(x) = b_0 + b_1 x + \cdots + b_n x^n \in R[x]$  satisfy f(x)g(x) = 0, then  $a_ib_j = 0$  for each i, j. (The converse is always true.) The study of Armendariz rings was initiated by Armendariz [2] and Rege and Chhawchharia [14]. Some properties of Armendariz rings have been studied in Rege and Chhawchharia [14], Anderson and Camillo [1], Kim and Lee [9], Huh, Lee and Smoktunowicz [8], and Lee and Wong [10]. In [7], Hong, Kim and Kwak studied a generalization of Armendariz rings, which they called  $\alpha$ -skew Armendariz rings, where  $\alpha$  is an endomorphism of R. In [5], Hashemi and Moussavi considered some generalized concepts of Armendariz rings, which we can regard as the Armendariz rings relative to Ore extensions, or skew Laurent polynomial rings or skew Laurent series rings.

The concept of quasi-Armendariz rings is another generalization of Armendariz rings. According to [6], a ring R is called a quasi-Armendariz ring if whenever  $f(x) = a_0 + a_1 x + \cdots + a_m x^m$ ,  $g(x) = b_0 + b_1 x + \cdots + b_n x^n \in R[x]$ satisfy f(x)R[x]g(x) = 0, we have  $a_iRb_j = 0$  for each i and j. Clearly every Armendariz ring is quasi-Armendariz.

Let R be a ring. It was shown in [6] that if R is quasi-Armendariz then the  $n \times n$ -matrix ring  $M_n(R)$  and the upper triangular matrix ring  $T_n(R)$ are quasi-Armendariz. Here we consider the following ring:

$$S(R) = \left\{ \begin{pmatrix} a & a_{12} & a_{13} & \cdots \\ 0 & a & a_{23} & \cdots \\ 0 & 0 & a & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} | a, a_{ij} \in R \right\}$$

Mathematics Subject Classification. Primary 16S36; Secondary 16S50.

Key words and phrases. Armendariz ring, quasi-Armendariz ring, left APP-ring.

This research was partially supported by National Natural Science Foundation of China, TRAPOYT and the Cultivation Fund of the Key Scientific and Technical Innovation Project, Ministry of Education of China.

In the following, we will show that if R is a left APP-ring then S(R) is quasi-Armendariz. We also give an example which shows that the ring S(R) need not be left APP when R is a left APP-ring.

An ideal I of R is said to be right s-unital if, for each  $a \in I$  there exists an element  $x \in I$  such that ax = a. It follows from Tominaga ([15], Theorem 1) that I is right s-unital if and only if for any finitely many elements  $a_1, a_2, \dots, a_n \in I$  there exists an element  $x \in I$  such that  $a_i = a_i x, i = 1, 2, \dots, n$ . According to [13] a ring R is called a left APP-ring if the left annihilator  $l_R(Ra)$  is right s-unital as an ideal of R for any element  $a \in R$ . Right APP-rings can be defined analogously. Recall a ring R is a left p.q.-Baer ring if the left annihilator of a principal left ideal of R is generated by an idempotent (see, for example, [3], [4] and [11]). Clearly every left p.q.-Baer ring is a left APP-ring (thus the class of left APP-rings includes all biregular rings and all quasi-Baer rings). A ring R is a right PP-ring if the right annihilator of an element of R is generated by an idempotent. Right PP rings are left APP.

The following result follows from [6] and Example 2.4 of [13].

**Proposition 1.** Every left APP-ring is quasi-Armendariz, but not conversely.

We need a lemma as follows.

**Lemma 2.** Let R be a left APP-ring and  $a_1, \dots, a_n, b_1, \dots, b_m$  belong to R. If  $a_i Rb_j = 0$  for all i and j, then there exists  $e \in R$  such that  $a_i = a_i e$  and  $eRb_j = 0$  for all i and j.

*Proof.* It was shown in [13] that R is a left APP-ring if and only if for every finitely generated left ideal I of R,  $l_R(I)$  is right s-unital. Let  $I = Rb_1 + \cdots + Rb_m$ . Then the conclusion follows from Tominaga ([15], Theorem 1) that an ideal J is right s-unital if and only if for any finitely many elements  $a_1, a_2, \cdots, a_n \in J$  there exists an element  $e \in J$  such that  $a_i = a_i e, i =$  $1, 2, \cdots, n$ .

**Theorem 3.** Let R be a left APP-ring. Then S(R) is quasi-Armendariz.

*Proof.* Suppose that R is left APP and  $\sum_{i=1}^{k} A_i x^i$ ,  $\sum_{j=1}^{l} B_j x^j \in S(R)[x]$ such that  $(\sum_{i=1}^{k} A_i x^i) S(R)[x] (\sum_{j=1}^{l} B_j x^j) = 0$ . We will show that  $A_i S(R) B_j = 0$  for all i and j. Suppose that

$$A_{i} = \begin{pmatrix} a^{i} & a^{i}_{12} & a^{i}_{13} & \cdots \\ 0 & a^{i} & a^{i}_{23} & \cdots \\ 0 & 0 & a^{i} & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix}, \quad B_{j} = \begin{pmatrix} b^{j} & b^{j}_{12} & b^{j}_{13} & \cdots \\ 0 & b^{j} & b^{j}_{23} & \cdots \\ 0 & 0 & b^{j} & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix}$$

Set  $f = \sum_{i=1}^{k} a^{i}x^{i}$ ,  $f_{pq} = \sum_{i=1}^{k} a^{i}_{pq}x^{i}$ ,  $g = \sum_{j=1}^{l} b^{j}x^{j}$ , and  $g_{pq} = \sum_{j=1}^{l} b^{j}_{pq}x^{j}$ for any p, q with  $1 \leq p < q$ . Then from  $(\sum_{i=1}^{k} A_{i}x^{i})S(R)[x](\sum_{j=1}^{l} B_{j}x^{j}) = 0$ it follows that for any  $\lambda$  and  $\lambda_{pq} \in R[x]$  with  $1 \leq p < q$ 

$$\begin{pmatrix} f & f_{12} & f_{13} & \cdots \\ 0 & f & f_{23} & \cdots \\ 0 & 0 & f & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} \lambda & \lambda_{12} & \lambda_{13} & \cdots \\ 0 & \lambda & \lambda_{23} & \cdots \\ 0 & 0 & \lambda & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} g & g_{12} & g_{13} & \cdots \\ 0 & g & g_{23} & \cdots \\ 0 & 0 & g & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} = 0.$$

Thus, for any  $\lambda \in R[x]$ 

$$f\lambda g = 0$$

and for any s, t with  $1 \leq s < t$ , and any  $\lambda, \lambda_{kl} \in R[x]$  with s < k < l < t,

$$f\lambda g_{st} + f\lambda_{st}g + f_{st}\lambda g + \sum_{l=s+1}^{t-1} f\lambda_{sl}g_{lt} + \sum_{l=s+1}^{t-1} f_{sl}\lambda g_{lt} + \sum_{l=s+1}^{t-1} f_{sl}\lambda_{lt}g + \sum_{l=s+1}^{t-1} \sum_{k=s+1}^{l-1} f_{sk}\lambda_{kl}g_{lt} = 0.$$

Fixed s and t with s < t. Let  $\lambda = \lambda_{st} = \lambda_{sl} = \lambda_{lt} = 0$  for any l with  $s + 1 \le l \le t - 1$ . Then

$$\sum_{l=s+1}^{t-1} \sum_{k=s+1}^{l-1} f_{sk} \lambda_{kl} g_{lt} = 0.$$

That is

$$\sum_{\langle k < l < t} f_{sk} \lambda_{kl} g_{lt} = 0.$$

For any  $k_0 < l_0$ , if we take  $\lambda_{kl} = 0$  when  $k \neq k_0$  or  $l \neq l_0$ , then it follows that  $f_{sk_0}\lambda_{k_0l_0}g_{l_0t} = 0$ . This means that for any  $\lambda \in R[x]$ ,

$$f_{sk}\lambda g_{lt} = 0, \quad \forall s < k < l < t.$$

Since R is quasi-Armendariz, we have

$$a_{sk}^i R b_{lt}^j = 0, \quad \forall s < k < l < t, \ \forall i, \ \forall j.$$

Take  $\lambda_{st} = 0$  for any s and t. Then it follows that for any  $1 \le s < t$ 

$$f\lambda g_{st} + f_{st}\lambda g + \sum_{l=s+1}^{t-1} f_{sl}\lambda g_{lt} = 0.$$
 (2)

Now we by induction on t - s show that for every  $\alpha \in R[x]$ 

$$f \alpha g_{st} = 0, \ f_{st} \alpha g = 0, \ f_{sl} \alpha g_{lt} = 0, \forall s < l < t.$$

$$(3)$$

Let t - s = 1. Then

 $f\alpha g_{st} + f_{st}\alpha g = 0.$ 

Since  $f \alpha g = 0$  for every  $\alpha \in R[x]$ , we have  $a^i R b^j = 0$  for all *i* and *j*. Thus, by Lemma 2, there exists  $e \in R$  such that  $a^i = a^i e$  and  $eRb^j = 0$  for all *i* and *j* and, so f = fe and eR[x]g = 0. Substitute  $e\beta$  for  $\alpha$  in  $f\alpha g_{st} + f_{st}\alpha g = 0$  to yield

$$f\beta g_{st} = fe\beta g_{st} = fe\beta g_{st} + f_{st}e\beta g = 0.$$

Hence  $f_{st}\alpha g = 0$ .

Now suppose that t - s > 1 and (3) holds for t - s < m. We will show that (3) holds for t - s = m. For  $l = s + 1, s + 2, \dots, t - 1$ , since t - l < m, we have  $f \alpha g_{lt} = 0$  by the induction hypothesis. Thus  $fR[x]g_{lt} = 0$ . Since R is quasi-Armendariz, we have  $a^iRb^j = 0$  and  $a^iRb^j_{lt} = 0$  for all i and j. Thus, by Lemma 2, there exists  $e \in R$  such that  $a^i = a^i e$  and  $eRb^j = 0, eRb^j_{lt} = 0$ for all i, j and l with  $s + 1 \le l \le t - 1$ . Hence f = fe and eR[x]g = 0,  $eR[x]g_{lt} = 0$ . Now substitute  $e\beta$  for  $\lambda$  in (2) to obtain

$$0 = fe\beta g_{st} + f_{st}e\beta g + \sum_{s < l < t} f_{sl}e\beta g_{lt} = fe\beta g_{st} = f\beta g_{st}.$$

Thus

$$f_{st}\beta g + \sum_{s < l < t} f_{sl}\beta g_{lt} = 0.$$
(4)

For  $k = s + 1, s + 2, \dots, t - 1$ , since k - s < m, by the induction hypothesis, we have  $f_{sk}\alpha g = 0$ . Thus  $f_{sk}R[x]g = 0$  and, so  $a_{sk}^iRb^j = 0$  for all i and jsince R is quasi-Armendariz. By Lemma 2 again, there exists  $c \in R$  such that  $a_{sk}^i = a_{sk}^i c$  and  $cRb^j = 0$  for all i, j and all k with s < k < t. Hence  $f_{sk} = f_{sk}c$  and cR[x]g = 0. Now substitute  $c\gamma$  for  $\beta$  in (4) to yield

$$0 = f_{st}c\gamma g + \sum_{s < l < t} f_{sl}c\gamma g_{lt} = \sum_{s < l < t} f_{sl}\gamma g_{lt}.$$
(5)

By (1) it follows that for every  $\gamma \in R[x]$ ,

 $f_{s,s+1}\gamma g_{s+2,t} = 0, \quad \cdots, f_{s,s+1}\gamma g_{t-1,t} = 0.$ 

This means that  $f_{s,s+1}R[x]g_{s+2,t} = 0, \dots, f_{s,s+1}R[x]g_{t-1,t} = 0$ . Thus

$$a_{s,s+1}^{i}Rb_{s+2,t}^{j} = 0, \cdots, a_{s,s+1}^{i}Rb_{t-1,t}^{j} = 0$$

for all *i* and *j*. Hence there exists  $d \in R$  such that  $a_{s,s+1}^i = a_{s,s+1}^i d$  and  $dRb_{s+2,t}^j = 0, \dots, dRb_{t-1,t}^j = 0$  for all *i* and *j*, which implies that  $f_{s,s+1} = f_{s,s+1}d$  and  $dR[x]g_{s+2,t} = 0, \dots, dR[x]g_{t-1,t} = 0$ . Substitute  $d\delta$  for  $\gamma$  in (5) to yield

$$\begin{aligned} f_{s,s+1}\delta g_{s+1,t} &= f_{s,s+1}d\delta g_{s+1,t} \\ &= f_{s,s+1}d\delta g_{s+1,t} + f_{s,s+2}d\delta g_{s+2,t} + \dots + f_{s,t-1}d\delta g_{t-1,t} \end{aligned}$$

$$= 0.$$

Thus

$$f_{s,s+2}\delta g_{s+2,t} + \dots + f_{s,t-1}\delta g_{t-1,t} = 0.$$

Continuing this procedure yields

$$f_{s,s+2}\delta g_{s+2,t} = 0, \cdots, f_{s,t-1}\delta g_{t-1,t} = 0.$$

Now we have shown that  $f \alpha g_{st} = 0$ ,  $f_{st} \alpha g = 0$ ,  $f_{sl} \alpha g_{lt} = 0$  for all s < l < t, by induction, which implies that  $fR[x]g_{st} = 0$ ,  $f_{st}R[x]g = 0$ ,  $f_{sl}R[x]g_{lt} = 0$ for all s < l < t. Thus  $a^i R b_{st}^j = 0$ ,  $a_{st}^i R b^j = 0$ ,  $a_{sl}^i R b_{lt}^j = 0$  for all i, j and s < l < t. Now it is easy to see that  $A_i S(R)B_j = 0$  for all i and j. This completes the proof.

**Proposition 4.** If S(R) is quasi-Armendariz then so is R.

*Proof.* Suppose that  $f = \sum a_i x^i$  and  $g = \sum b_j x^j$  are in R[x] such that fR[x]g = 0. Then for any  $\alpha, \alpha_{ij} \in R[x]$ ,

$$\begin{pmatrix} f & 0 & 0 & \cdots \\ 0 & f & 0 & \cdots \\ 0 & 0 & f & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} \alpha & \alpha_{12} & \alpha_{13} & \cdots \\ 0 & \alpha & \alpha_{23} & \cdots \\ 0 & 0 & \alpha & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \begin{pmatrix} g & 0 & 0 & \cdots \\ 0 & g & 0 & \cdots \\ 0 & 0 & g & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} = 0.$$

Thus

$$\begin{pmatrix} a_i & 0 & 0 & \cdots \\ 0 & a_i & 0 & \cdots \\ 0 & 0 & a_i & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} S(R) \begin{pmatrix} b_j & 0 & 0 & \cdots \\ 0 & b_j & 0 & \cdots \\ 0 & 0 & b_j & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} = 0,$$

for all i and j, which implies that  $a_i R b_j = 0$  for all i, j.

The following example shows that the left APP property of R does not imply the left APP property of S(R).

**Example 5.** Let F be a field and consider the ring S(F). Let

$$A = \begin{pmatrix} 0 & 1 & 1 & 1 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \end{pmatrix}$$

belong to S(F). Then

$$S(F)A = \left\{ \begin{pmatrix} 0 & a & a & a & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \end{pmatrix} | a \in F \right\}.$$

Thus it is easy to see that

$$l_{S(F)}(S(F)A) = \left\{ \begin{pmatrix} 0 & x_{12} & x_{13} & \cdots \\ 0 & 0 & x_{23} & \cdots \\ 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} | x_{ij} \in F \right\}.$$

Now let

$$B = \begin{pmatrix} 0 & 1 & 0 & \cdots \\ 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \in l_{S(F)}(S(F)A).$$

If S(F) is left APP, then there exists  $C \in l_{S(F)}(S(F)A)$  such that B = BC. But this contradicts with the fact

$$BC = B \begin{pmatrix} 0 & c_{12} & c_{13} & \cdots \\ 0 & 0 & c_{23} & \cdots \\ 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} = \begin{pmatrix} 0 & 0 & c_{23} & c_{24} & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}$$

Thus S(F) is not left APP.

**Remark.** We do not know whether or not the ring S(R) is quasi-Armendariz when R is quasi-Armendariz. In [12] an example was given to show that for a quasi-Armendariz ring R, the ring

$$T(R,R) = \left\{ \begin{pmatrix} a & b \\ 0 & a \end{pmatrix} | a, b \in R \right\}$$

need not be quasi-Armendariz.

Acknowledgement. The authors thank the referee for his/her helpful suggestions.

## References

- Anderson, D.D. and Camillo, V., Armendariz rings and Gaussian rings, Comm. Algebra 26(1998), 2265-2272.
- [2] Armendariz, E.P., A note on extensions of Baer and p.p.-rings, J. Austral. Math. Soc. 18(1974), 470-473.
- [3] Birkenmeier, G.F., Kim, J.Y., Park, J.K., On polynomial extensions of principally quasi-Baer rings, *Kyungpook Mathematical J.* **40**(2000), 247-254.
- [4] Birkenmeier, G.F., Kim, J.Y. and Park, J.K., Principally quasi-Baer rings, Comm. Algebra 29(2001), 639-660.
- [5] Hashemi, E. and Moussavi, A., Polynomial extensions of quasi-Baer rings, Acta. Math. Hungar. 107(2005), 207-224.
- [6] Hirano, Y., On annihilator ideals of a polynomial ring over a noncommutative ring, J. Pure Appl. Algebra 168(2002), 45-52.

- [7] Hong, C. Y., Kim, N.K. and Kwak, T. K., On skew Armendariz rings, Comm. Algebra 31(2003), 103-122.
- [8] Huh, C., Lee, Y. and Smoktunowicz, A., Armendariz rings and semicommutative rings, Comm. Algebra 30(2002), 751-761.
- [9] Kim, N.K. and Lee, Y., Armendariz rings and reduced rings, J. Algebra 223(2000), 477-488.
- [10] Lee, T.K. and Wong, T.L., On Armendariz rings, Houston J. Math. 29(2003), 583-593.
- [11] Liu, Z., A note on principally quasi-Baer rings, Comm. Algebra **30**(2002), 3885-3890.
- [12] Liu, Z. and Zhang, W., Quasi-Armendariz rings relative to a monoid, Comm. Algebra 36 (2008), 928-947.
- [13] Liu, Z. and Zhao, R., A generalization of PP-rings and p.q.-Baer rings, Glasgow J. Math. 48(2006), 217-229.
- [14] Rege, M.B. and Chhawchharia, S., Armendariz rings, Proc. Japan Acad. Ser. A Math. Sci. 73(1997), 14-17.
- [15] Tominaga, H., On s-unital rings, Math. J. Okayama Univ. 18(1976), 117-134.

LIU ZHONGKUI DEPARTMENT OF MATHEMATICS NORTHWEST NORMAL UNIVERSITY LANZHOU 730070, GANSU PEOPLE'S REPUBLIC OF CHINA *e-mail address*: liuzk@nwnu.edu.cn

ZHANG WENHUI DEPARTMENT OF MATHEMATICS NORTHWEST NORMAL UNIVERSITY LANZHOU 730070, GANSU PEOPLE'S REPUBLIC OF CHINA *e-mail address*: zhwh2580933@sina.com

(Received April 8, 2008)